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This costs ‘¢’ 45 to do; this costs ¢45 to do; this costs ¢45 in sans italic to do; Tais
COSTS “C” 45 TO DO; this costs ¢45 to do this costs ¢45 to do for a fée. And so

The stin has got hishat in, hip hip hip hooray! ;THE DAZED BROWN FOX QUICKLY
GAVE 12345-67890 JUMPS! — ;But aren’t Kafka’s Schlo1 and flsop’s uvres often
naive vis-a-vis the dymonic phnix’s official role in fluffy soufflés? Only if > . @; =
f 01 f or (expressed more clearly)
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1 Val 1 Val
2 Va2 2 Va2
3 Va3d 3 Va3
4 Va4l 4 Va4
5 Vabd 5 Vab
6 Vab 6 Va6
7 Va7 7 Va7
8 Va8 8 Va8
9 Va9 9 Va9
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